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IBGz [y A > K £ = Time ikt
1 15 HA g 0 36.56
2 17 Bk T J\FHKHSA 37.37
3 9) gR  #A J\FHKHSA 37.79
4 12 AH J\FHKHSA 38.32
9) 16 gH Z=R J\FHKHSA 38.84
6 11 <3 Fhl J\FHKHSA 4156
7/ 10 =X BXER J\FHKHSA 4282
8 9 &b B J\FHKHSA 4737
1 o2 EfT J\FHKHSA DQ
2 N = J\FHKHSA 4578 4t
3 R EE| J\FHKHSA DS
4 INGR EH J\FHKHSA DQ
6 28 R 41.74 4t
/ #ik B J\TFAHSA DS
8 fIEE BE J\FHRHSA DS kA
13 NE g J\FHKHSA 4225 4t
14 WmEs R= J\FHHSA 37.28 IRAY
<<L<ZF>>
BR [F w7 K a T B Time ikt
1 bh E = 41.68
2 h4 EH OER J\FHKHSA 4295
3 53 =8 K LZ R R ERE 4528
4 52 AM FHEF J\FHKHSA 52.42
5 51 =8 R J\FHTSA 56.81




